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OR(37214T)

Describe the construction and working of a vane pump.

d9 9 & qd1de dAT fhar &1 quie &Y |

Describe reciprocating compressor used in
pneumatic system.

IrIdT gorell ¥ SYAT 89 drel UIITHT
dfisd &1 qui< o |

OR(3721dT)

Draw layout of oil hydraulic circuit with neat sketch
and state the function of each component used in it.

o5 fua @ 91 I sgsifas Afbe &1
el a3k IWH ygad Y AS °cdh Bl
forar ford |

Describe the construction and working of gear
pump with suitable sketch.

Sugad a3 & |1 R v & 941ac
a2t wraf &1 9ufs &Y |
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Time : 3Hrs. Sem - VI-Mech. Engg
L.E.P.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR(3721dT)

Draw speed control pneumatic circuit for
bidirectional air motor.

fgfeer gar wier & forv ara fFa=e aradia
dfee Raa |

What is FRL ? Write the function of each component

of FRL.
4

FRL®AT 2 ? FRL® Udd °Ucd $I fhar
ford |

OR (312141)

Write any four reasons of failure of pneumatic seals.

Iarfid W @ IAhedar & fe=l IR dRN
3l ford |

Describe any four minor loses in fittings and valves

of pipe.
p1p 4

sy & e 3k ared o &l IR angeh
IHATE & quid N |
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(i)

(iif)

(1i1)

(iv)

3 1625603

arIdg gulTell §, AND € ... K|
ff ST ST 2

(31) 9 drced

(9) wrce dred

(W) S3rd YR dred

() 3 9 BIg 78

Which of the following is an element of time
delay valve ?

(a) How control valve

(b) Direction control valve

(c) Both (a) and (b)

(d) None of the above

fr=faRaa # 9 @19 gy fsa areq
PT U dcd © 2

(31) yare =T qreq

(8) feem o1 91"

(&) (3 AR @) <A

() 39 9 BIg 781

Pressure 1 bar is equal to
(a) 760 mm Hg

(b) 760 mm H,O

(c) 700 mm Hg

(d) 700 mm H,O
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(31) 9gd 3t <erg
C)RIEECTIE]

(") @9 <919

(?) wegH <499

GROUPB

Answer all Five Questions.

i) ufg gl & SR © |

2.

What is function of
(a) Gaskets
(b) Filters

sId 1 B 2
(@) dEde
(@) fheex

4x5=20
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(vi)

(vii)

(vii)

(viii)
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(31) 1hp

(€ 1to2hp
(|) 1to3hp
() 4to5hp

Which fluid is used in hydraulic power
systems ?

(a) Water

(b) Oil

(c) Non-compressible fluid

(d) All of the above

gissifad UraR Rew § fow avd
ugrel &1 SuAIT fear siar € ?
(3r) Ty

(@) sirga

(@|) IR dqfaa ava

() 39 9 BIg 7€

In fixed displacement vane pump............

(a) Flow decreases with increase in working
pressure

(b) Flow increase with increase in working
pressure

(c) Flow pressure is contant and is not along
with working

(d) None of the above
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(xvi)

(xvii)

(xvii)
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RS & M & FTUR dhls-s a%],
H g9 & fewm el

(@) AIT®

(@) sif-rafia su &

(G)RERER

() srgpiie

Which type of energy conversion takes place
in hydraulic cylinder ?

(a) Electrical to mechanical

(b) Fluid to electrical

(c) Fluid to mechanical

(d) Mechanical to electrical

glsgifard Ridisy & Sul vuiavvr feg
UYHR a1 & ?

(@) fagd @ @ifye

@) e 9 fagd

(¥) = & Ty

() aifye ¥ faeha

Hydraulic motors are usually rated in
(a) Newton meters

(b) KW hour

(c) Horse power

(d) Pounds

NT6033

x)

(xi)

(xi)

(xii)

7 1625603
gqre =T dared ... &1 fra=or
H & forg SUAIT BT B |

(31) S=I

@) a7

(|) <er@

(?) 9«

The pneumatic system component is.
(a) FRL unit

(b) Pump

(c) Tank

(d) Accumelator

I yoITell @ Hed 2,
(31) FRL 3&TS

() T

@) <&

(?) vagHee

Hydraulic system is always a
(a) Closed loop system

(b) Open loop system

(c) Both (a) and (b)

(d) Logical system
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10.

OR (3121an)

Explain working of poppet check valve

with neat sketch.

Ygo8 I @ 91T uiue dicd & 1Al &)
IRAT BN |

Describe working of bleed-off hydraulic circuit

with neat sketch.

W a9 & a1 feclls—aiie sEgifas
dfebe & fpar &1 qofa &Y |

OR(372rd1)

Differentiate between pressure relief valve and

pressure reducing valve.

T4Td XT8d dTed 3R T4I1d HH B dTell died
@ €9 3fax ford |

P.T.O
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10.

OR (3121d1)

Explain working of directly poppet check valve

with neat sketch.

Yao8 9 @ 91 ufue died @ 1Al &)

AT BN |

Describe working of bleed-off hydraulic circuit

with neat sketch.

oo faa & O fells—3iiw sssifas
dfbe & fpar &1 qofa & |

OR (3721dT)

Differentiate between pressure relief valve and

pressure reducing valve.

T4Td XT8d dTed 3R Cd1d HH I dTell died
o €9 3ax ford |
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